Math 246 (9-10am), Midterm 1.
Show all your work! Use the most efficient method you know!
0. Write your name here:

1. Find the derivative of f(z) = 727 What are the critical points
of this function?
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2. Find the second derivative of g(z) = sin (z?).
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3. Find the equation of the tangent line to the curve z° + 23 = 10
at the point (2, 1).
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4. Find the limit lim,_,; 2= s + . How close the input must be to 3 for
the output to be within 0.05 of the limit?
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5. The number of yeast cells in a laboratory culture is modeled by
the function 2000

)= ———r
) = T Tgeon
where the time ¢ is measured in hours. What is (instantaneous) rate

of change of the size of population at time ¢ = 0?7 Answer the same
question with ¢ = 10 and ¢ = 100.
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